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Performance Analysis of an ATM LAN Switch

with Backpressure Function

~ Average Packet Delay and Pakcet Loss Probability ~

Hiroyuki OHSAKI, Naoki WAKAMIYA, Masayuki MURATA, Hideo MIYAHARA

Faculty of Engineering Science, Osaka University

Toyonaka, Osaka 560, Japan

Abstract Reactive congestion control is thought to be effective in an ATM-based LAN. In this paper, we
focus on an ATM LAN switch with input and output buffers equipped with back-pressure function to investigate
its performance. The packet delay distributions and approximate packet loss probabilities are derived using a

mathematical analytic technique against bursty traffic which is essential to be supported in ATM LANs .
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